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SSC CODING DECODING-1

SOLUTION
1. (A)
GOLD =1 MNF
| " ﬂ‘[
+2
42
+2
Similarly,
WIND - YEKPF
| 2 4
+2
+2
+
2. (B)

«A=1— The position num-
her in English alphabet,
P AT
4L

B+ 1 + 20 =F
4

Sum of Position Numbers of
the letters in English alpha-
bet.

Similarly.

T A P

I 11

204+ 1 + 16=37

Similarly,

LSS

ra

Similarly,

114 16 3
ANPC

6. (d) The given pair is of opposite
letters.
Series of opposite letters
IAIBIC|D|E HI{J LM
Y J [ 1A U R G Y R S
P

N
ziv|x|w|viu[Ts [R|dPION

Now

_z_\|'<(_03

Similarly

F[lEEFIlJ'F :g ‘fT

8. (a)
FORGET ?

0

—3I

Similarly,

DOCTOR — BPA

i 2 j‘”
+1

=]

+1

—F
+1

9.(c)

GC Trick : From the jumbled letters
only the word NOVEMBER can be
formed considering the given
options.

12 3 4 5 8 7 8
DE C E M B E R
4
TB 5 6 3 4 1 2
ERM B C E DE

Similarly.

78 5 & a 4 1 2
ERM B v E N O
L
12 3 4 5 &6 7 8
NOV E M B E R
10.(c)
R—>18
E—>5
D->4

Add 2 to the position number of each
alpahbet and then write the sum so
obtained in reverse order.

RED = 6720

Similarly

GHR E E N
11 1 1 L
718 5 5 14
4 & ok A A
22 2 2 2
B N T
g0 7T 7 18

GREEN= 158 7 7 20 %

11.(b) A=26 i.e., the position number
of A from the right end or in reverse
order.

S UN

Ll

8+6+13=27
Similarly,
C AT

i @
24+26+7 =57

12.(c)

ORG ANIZATION
A A A N A AN
CBDWLQJWYQCL
And

O PERATI ON
R R R R

C XFBWYQCL
Therefore,

S EPARA TION
A A A

J FXWBWYQCL

13.(d)
1 3 5 7 14 18 18 20
A C E G—»N P R T
l as T ‘l‘
+13
+13
+13
Similarly
1 4 7 10 14 17 20 23
A D G J—»N T W
I +!.3T
+13
+13
+13
14.(a)
6 8 5 7 10 12 9 11
F HE G—J L 1 K
] T
+4
+4
+4
Similarly,
16 18 15 17 20 22 15 21
P R O g—T ¥V 5 U
" T
i
+4
=
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15. (a) A=1 position number in the

english alphabet.
F A T

T P

6+ 1+ 20=27
Therelore,

F A 1 T H
L L " i 4

G+ 1+ 9+ 20+8= [44]

16. (d)

16

61
lAP

oo

R

—T

Therefore

165 143 & 12—15 4 13

PENCIL

|

oo
o 2
L

Pair of opposite letters.
Similarly

=

¥
EHF G—»S VT

(.

]

18. (c)
1 12 T 16—1
J L N P

L]

13
M

Iy

—aR

11 8
1

-1

Similarly

19 21 23 25—k 24 22 20 18

5 U wW Y

Z'E—’Uélﬂ“'—mzt—"ﬂ
MRS HerPNeD
Ses nemo ez
O+2 &=

-

20.(d)
4B ROT HE R
B A
a4 4 5 68 7.8 4
S 1 5 TE R
T R R A A
9 1 9 6 8 4
Therefore,
REROBBERS
L L L 4 4 L 4L
4 5 2 2 8B 4 9
21.(a)
1 4 3 56 7

T2
EIM v r 0 NMENT
22.(d) There is no ‘G’ letter in the given
word.
23. (a) EGQU
24. (d)

]
C
O

o]

o

+
[

—
L—>2

+
o=l

=2

=

|

o

o

z r
X

+
—

L
-

Therefore
COFFEE==D

PGG
Jif

>z

-

+1

+1

+1
26. (b)
C Lo U D
L L+ L + 1L
5 9 4 3 2
R A 1 ™
L L i 1
1 6 7 8B
Therefore
A RO UND
A P
A1 4 3 8 2
27.(b) There is no ‘A’ letter in the given

word. Therefore, the word CAUTION
cannot be formed.

28.(c) E=5, i.e., position number in the
english alphabet.

R E D

18+5+4=27, i.e., sum of the position
numbers of the letters.

Therefore

D A NCE
4+1+14+3+5=27.
38.(c)

E A R T H
A T e
O F MZ S
Therefore,

2 -2l-2l-a2l-2l-24
o 5 G A 1
Therefore, Y -2 W
30,C ON SCIOUSLY
AR R
P EB NPJEXNKM

)
E Q U I C K
1
C

Therefore
S OIL
il
N EJA
31.(c) 55. Discuss with Alok Sir.
32.(a)
P R A B A
4 1L 4L 1 &
2 F 5 O 5
T H T . A K
L L 1L L 1
32 68 8 4 5 1
Therefore.
BE H A R A T 1
L 1 1L L 1L 11
a 8 5 7 6B 3 8
33.(d)
P ARENT
O A A
B DFG J K
CHI L DREN
N
M O X Qg UF G J
Therefore
R E PR I N T
N R A A A

F G BF X J K
34.(a) Here we get the answer by
adding the order number of

theletters of stable.




